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All questionsarecompulsory.
Each question carriesonemark.

Answers should be marked in the given OMR answer sheet by
darkeningtheappropriateoption.

Follow theinstructionsgiven on OMR sheet.
Rough work shall bedoneon the sheet provided at theend of question

paper.
Which of the following reptile has four chambered heart?

A) Turtle

B) King cobra
C) Crocodile
D) Sphenodon

The folded

states of globular proteins in aqueous solutions are stabilized

primarily by

A) hydrophobic interactions
B) peptide bonds

C) phosphodiester bonds
D) ionic bonds

Washing soda is the common name for

A) Sodium carbonate

B) Calcium bicarbonate

C) Sodium bicarbonate

D)

Calcium carbonate

P.T.O.
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Beta-oxidation of fatty acids occurs in

A)
B)
©
D)

Peroxisome
Golgi bodies
Mitochondria

Endoplasmic Reticulum

This molecule acts as molecular chapersones to assist the folding of proteins

A)
B)
©
D)

Vitamins
Carbohydrates
Proteins
Lipids

Which of the following enzyme is responsible for the conversion of glucose
I-phosphate to glucose 6-phosphate?

A)
B)
©
D)

Epimerase
Phosphoglucomutase
Glycogen phosphorylase

Isomerase

Which of the following is true about tm?

A)
B)
©
D)

The higher the content of G = C base pairs, the lower the tm
The higher the content of A = T base pairs, the higher the tm
It can be termed as renaturation temperature

The higher the content of G = C base pairs, the higher the tm

Which of the following is an example of epimers?

A)
B)
©
D)

Mannose & Glucose
Glucose & Ribose
Galactose & Mannose

Glucose & Galactose
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Which of the following is true about phosphodiester linkage?

A)
B)
O

D)

3’-phosphate group of one nucleotide unit is joined to the 5’-hydroxyl
group of the next nucleotide
3’-phosphate group of one nucleotide unit is joined to the 3’-hydroxyl
group of the next nucleotide
5’-phosphate group of one nucleotide unit is joined to the 3’-hydroxyl
group of the next nucleotide
5’-phosphate group of one nucleotide unit is joined to the 5’-hydroxyl
group of the next nucleotide

When the velocity of enzyme activity is plotted against substrate concentration,
which of the following is obtained?

A)
B)
O
D)

Straight line with negative slope
Sigmoidal curve

Parabola

Hyperbolic curve

Which of the following statements is correct about column chromatography?

A)
B)

O

D)

Resolution limproves as column length increases
Mobile phase is a porous solid material kept in the column with
appropriate chemical characteristics

Stationary phase is a buffered solution that percolates through the mobile
phase

Large proteins exit the column faster than tiny proteins

The important function of disulfide bond in amino acid is to help structural -

A)
B)
O
D)

Stability
Maturation
Denaturation
Renaturation

[al, a2, a3] is called a

A)
B)
C)
D)

Row matrix
Coloumn matrix
Determinant
Database
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Which one of the following amino acids may be considered a hydrophobic
amino acid at physiological pH of 7.4?

A)
B)
O
D)

Isoleucine
Arginine
Aspartic acid
Threonine

Which one of the following is an acidic amino acid?

A)
B)
C)
D)

Valine
Aspartate
Lysine
Aspargine

Which is a characteristic of both an a-helix and a -pleated sheet?

A) Both can be anti-parallel structures
B) Both form interactions involving the oxygens of peptide bonds
C) Both are found only within multimeric proteins
D) Both are denatured when heat breaks peptide bonds
Antibody structure is ______ shaped.
A) W
B) X
C Y
D) Z
these are aromatic amino acids.
A) Alanine, Valine, Glycine
B) Tyrosine, Tryptophan, Phenylalanine
C) Histidine, Tyrosine, Alanine
D) Tryptophan, Glycine, Aspartate
The following are methods of sterilization EXCEPT

A)
B)
C)
D)

Dry heat sterilization
Autoclaving
Sterilization by filters
Laminar airflow
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Culture freshly prepared from isolated tissue is known as ____.
A) Organ culture

B) Primary culture

C) Cell line

D) Histotypic culture

Which of the following is not an application of tissue culture?
A) Rapid Clonal propagation

B) Somachlonal Variations

C) Embryo rescue

D) Transgenic plants

Optimum pH for plant tissue culture mediumis
A) 75

B) 8

C) 57

D) 85

The production of secondary metabolites requirestheuseof
A) Meisem

B) Protoplast

C) Axillary buds

D) Cell suspension

20% of 2 isequal to
A) 20

B) 4

C) 04

D) 004

What isCallus?

A) Tissuesthat grow to form an embryoid

B) Anunorganized actively dividing themassof cellsmaintainedin aculture
C) Aninsoluble carbohydrate

D) A tissuethat growsfrom an embryo

-5-
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Which of the following is not afeature of the plasmid?
A) Singlestranded
B) Independent replication
C) Circular structure
D) Small, circular double-stranded

In Bt cotton, the Bt toxin present in plant tissue as protoxin is converted into
active toxin due to

A) AlkalinepH of theinsect gut

B) Acidic pH of the insect gut

C) Action of gut microorganism

D) Presence of conversion factorsin insect gut

Which of the following is commonly used as a vector for introducing a DNA
fragment in human lymphocytes?

A) X phage
B) Retrovirus
C) Tiplasmid
D) PBR 322

The expression of atransgene in the target tissue isidentified by a
A) Transgene

B) Promoter

C) Enhancer

D) Reporter

The human genome project was launched in the year
A) 1980
B) 1973
C) 1990
D) 1989
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The Golden Ricevariety isrichin
A) VitaminC
B) B-caroteneandferritin
C) Biatin
D) Lysne

ELISAis

A) Using radiolabelled second antibody

B) Usage of RBCs

C) Using complement-mediated cell lysis

D) Addition of substrate that is converted into a coloured end product

What isthe concentration of CO, required for culturing animal cells?
A) 2-5%

B) 1-10%

C) 10-15%

D) 1520%

The technique used to locate specific genes in chromosome is
A) colony hybridization

B) ingtuhybridization

C) dot blot technique

D) westernblotting

A nano biological recognition component, which is involved in interacting
with the analyte moleculeiscalled as

A) biosensor

B) probe

C) nano biosensor
D) quantum dots

Hybridomaisacell formed by the fusion of

A) Plasmacell with aplasmacell of another species
B) T cel withamyelomacell

C) Macrophagewithamyelomacell

D) Plasmacell withamyelomacell

-7-
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37) Interferonsare
A) Anti bacteria proteins
B) Anti-vird proteins
C) Bacteriostatic proteins
D) All of these

38) Animal cell culturesare used widely for the production of
A) Insulin
B) Somatostatin
C) mAbs
D) Thyroxine

39) Transposon is known as
A) ISeement
B) Jumpinggene
C) Conservativegene
D) Cpintegrategene

40) In SDS-PAGE, separation is based on
A) Molecular weight
B) Shape
C) Charge
D) All of theabove

41) Which of thefollowing isused to preserve specimensin the biol ogy |aboratory?
A) Phenol
B) Benzadehyde
C) Formaldehyde
D) Aceticacid

42) Carbon, Diamond and Graphite are together called

A) Isomers
B) Isotopes
C) Allotrope

D) Isomorphs
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Which of thefollowing is not a strong acid?
A) HSO,
B) CH,COCH
C) Hd
D) HBr

Silver Mirror test is given by which one of the following compounds?
A) Benzophenone

B) Aceticacid

C) Acetone

D) Formaldehyde

A radioactive substance has a half-life of four months, three-fourth of the
substance would decay in

A) 3 months
B) 4 months
C) 8 months
D) 12 months

The main product of glycolysis under aerobic conditions is
A) Pyruvate

B) Lactate

C) None of these

D) BothAandB

What is the IUPAC name of the compound (CH,)3CCH_CI?
A) 1-Chloro-2,2-dimethylpropane

B) 1-Chloro-2,2,2-trimethylethane

C) 2-Chloromethyl-2-methylpropane

D) 2,2-Dimethyl-1-Bromopropane

Which among the following ismost el ectronegative element?
A) Chlorine

B) Fluorine

C) Bromine

D) All of them have same electronegativity

-O-
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Which of the following colloidal system representsagel?
A) Solidinliquid
B) Solidingas
C) Liquidinsolid
D) Liquidingas

Which of the following is the correct Gibbs equation?
A) AG=AH + TAS

B) AG=AH -TAS

C) AG =AH -2TAS

D) AG=AH - 3TAS

A pair of solutions bear the same osmotic pressure. What is this pair of
solutions called?

A) Hypertonic
B) Hypotonic
C) Isotonic

D) Osmolarity

Which of thefollowing will lead to anincreasein the rate of the reaction?
A) Decreaseintemperature

B) Decreasing concentration of reactants

C) Addition of catalyst

D) Addition of inhibitor

In polar molecular solids, the molecules are held together by
A) Dipole-dipoleinteractions

B) Dispersion forces

C) Hydrogen bonds

D) Covalent bonds

Which among the following isaNoble Gas?
A) Nitrogen

B) Hydrogen

C) Oxygen

D) Hdium

-10-
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55) Activated charcoal is used to remove colouring matter from pure substances.
It works by

56)

57)

58)

59)

A)
B)
C)
D)

Oxidation
Reduction
Adsorption
Bleaching

Certain biomolecular reactionswhich follow thefirst order kineticsarecalled
reactions.

A)
B)
C)
D)

First order
Unimolecular
Bimolecular
Pseudo first order

The protein moiety of an enzyme is known as

A)
B)
C)
D)

Holoenzyme
Apoenzyme
Coenzyme
Enzyme

A tissue that does not contain ligninis

A)
B)
C)
D)

Sclerenchyma
Parenchyma
Collenchyma
Chlorenchyma

Electrons from the excited chlorophyll molecules of PS-I1 are first accepted

by
A)
B)
C)
D)

Pheophytin
Ferredoxin
Cytochrome f
Cytochrome b

-11-
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60) Reduction of NADP occurs in

61)

62)

63)

64)

65)

A)
B)
C)
D)

Oxidative photophosphorylation
Cyclic photophosphorylation
Non-cyclic photophosphorylation
None

The repository of plant taxonomy and systematics is called as

A)
B)
C)
D)

Red data book
Herbarium
Botanical garden
Genomic library

In the five-kingdom system of classification, into which kingdom would you
classify nitrogen-fixing organisms and archaea?

A)
B)
C)
D)

Fungi

Plantae
Protista
Monera

Hydrophytes exchange gases through

A)
B)
C)
D)

leticels

stomata

general surface by diffusion
al of these

A characteristics feature of bryophytesis

A)
B)
C)
D)

a dominant and parasitic sporophyte

adominant and spore-producing gametophyte

asmall sporophyte phase, which is dependent on the gametophyte
sporophytes stay for alonger duration

Mucor is a

A)
B)
C)
D)

Parasitic fungus

Saprophytic fungus
Facultative saprophytic fungus
None of the above

-12-
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66) Inbiotechnological studies, thea gathat isexploited asarich source of protein
IS

A) Spirogyra

B) Spirulina

C) Chlamydomonas
D) Scytonema

67) Which of thefollowing has non-flagellated isogamous gametes?
A) Spirogyra
B) Chlamydomonas
C) Volvox
D) Fucus

68) Anaysisof proteinantigenisby
A) Southern blot
B) Northernblot
C) Western blot
D) None of these

69) RBCsof mammalsare
A) Non-nucleated, biconcave and circular
B) Nucleated, biconvex, oval
C) Non-nucleated, biconvex, oval
D) Non-nucleated, biconvex and circular

70) The phenotypic ratio of monohybrid cross is
A) 3:1
B) 1:2:1
C) 2:1:1
D) 9:3:3:1

-13-
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71) Which isthe anti-coagulant substance in blood?
A) Thrombin
B) Globin
C) Fibrinogen
D) Heparin

72) Thesiteof fertilizationin the female mammalian reproductive systemis
A) Vagina
B) Uterus
C) Fdlopiantube
D) Ovarianfimbriae

73) Salamander isan exampleof
A) Reptile
B) Osteichthyes
C) Amphibians
D) Mammas

74) Arthropods excrete through
A) Malpighiantubules
B) Pores
C) Nephridia
D) Kidneys

75) Pituitary glandislocatedin
A) Intestine
B) Liver
C) Kidney
D) Bran

76) The study of relationships among different organismsiscalled
A) Taxonomy
B) Biology
C) Systematics
D) Ornithology

-14-
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77) Fossils are most commonly preserved in .
A) Metamorphic rocks
B) Igneous rocks
C) Sedimentary rocks
D) Any type of rock

78) Bacteriawhich need oxygen for growth are called
A) Thermophilic bacteria
B) Microaerophilic bacteria
C) Facultative anaerobic bacteria
D) Mycobacteria

79) Which of the following intermediates of TCA cycle act as amino acid
precursors?

A) Oxaloacetic acid
B) Succinic acid

C) Citricacid

D) Acetyl CoA

80) Which one of the following mutagens act only on replicating DNA?
A) Ethidiumbromide
B) Nitrosogeranidine
C) Acridineorange
D) None of above

81) Mycotoxins are formed during the end of
A) Lag phase
B) Log phase
C) Desathphase
D) Stationary phase

-15-
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82) Whichoneof thefollowing minera elementsplay animportant rolein biological
nitrogen fixation?
A) Copper
B) Magnesum
C) Zinc
D) Molybdenum

83) In gram positive and gram negative bacteria the electron transport contains

A) Naphthquinone
B) Plastoquinone
C) Ubiquinone
D) BothAandB

84) Multipleantibioticresistanceismediatedby
A) Episome
B) Plasmid
C) Colplasmid
D) BothBandC

85) Themagor congtituentsinagar are
A) Fats
B) Aminoacids
C) Polysaccharides
D) Polypeptides

86) Thefollowing organisms have been proposed as sources of single cell protein

A) Bacteria

B) Yeasts

C) Algee

D) Alltheabove

-16-
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87) Biological Oxygen Demand (BOD) is ameasure of

88)

89)

90)

1)

A)
B)
C)
D)

Industrial wastes poured into water bodies

Extent to which water is polluted with organic compounds

Amount of carbon monoxide inseparably combined with heamoglobin
Amount of oxygen needed by green plants during night

Example of anaerobic medium

A)
B)
C)
D)

Wilson blair medium

Mac conkey broth

Robertson’s cooked meat medium
EMB agar

The Bacteriamove in response to magnetic field is

A)
B)
C)
D)

Spirochets

Treponema

Aquaspirillum Magnetotacticum
None of these

Which of the following monosaccharidesis not an aldose?

A)
B)
C)
D)

Ribose
Glucose
Fructose
Glyceradehyde

Virulent factor in pneumococcus is

A)
B)
C)
D)

Cdlwal
Capsule

M esosomes
Endotoxins
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92) Peptone water mediumisan examplefor
A) Syntheticmedium
B) Semisynthetic medium
C) Differentia medium
D) None of these

93) Electron microscope gives magnificationupto
A) 100X
B) 2,000 X
C) 50,000 X
D) 2,00,000 X

94) The best example for symbiotic associationis
A) E.cali inintestine of man
B) Lichens
C) Normal floraof skin
D) All of theabove

95) Which one of the following isan operating system?
A) MS-office
B) MSVMware
C) Oracle
D) UNIX

96) Assembly languagesarewrittenwiththehelpof
A) Mnemonics
B) Proteomics
C) Genomics
D) None of the above
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97) _ termused to define all input and output devicesin acomputer system.
A) Software
B) Monitor
C) Shared resources

D) Hardware

98)  isastructura database.
A) PDB
B) PIR
C) DDBJ
D) PubMed Central

99) Under the branch total set of proteins are studied using computational
and experimental techniques.

A) Pharmacogenomics
B) Proteomics
C) Chemoinformatics

D) Modedling

100) Reading of a barometer going down is an indication of
A) Snow
B) Storm
C) Intenseheat
D) Ranfal

ofo ofe ol
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